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Abstract Field measurement should be carried out for a settlement model of ballast. But we can’t

reasonably evaluate the impact of each factor on the settlement of ballast based on the field measurement
data, since a variety of factors are combined in the field. Therefore, we intended to examine the effect of

some factors on the settlement of ballast in laboratory test, in order to suggest variables of settlement model

and model constants. In this study, we developed a ballast test box and performed some tests by considering

the factors such as load, grain size distribution, and load combinations.
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Fig.3 Grain size distributions of the tested ballast

Table 1 The specimens and conditions

. Amp. of
. .. Seating . Freq. Number

Specimen | Description Force(kN) fof ::(l[l;]:\]) (Hz) of cycle Etc.

B-GC-1 GC-Under 2 60 10 100,000

B-GC-2 GC-Under 2 60 10 1,000,000

B-GC-3 GC-Under 2 60 10 2,000,000

B-GC-4 GC-Under 2 40 10 2,000,000

B-GC-5 GC-Under 2 20 10 100,000

B-GC-6 GC-Under 2 20 10 2,000,000

B-GC-7 GC-Upper 2 20 10 2,000,000

B-GC-8 GC-Upper 2 40 10 2,000,000

B-GC-9 GC-Upper 2 20 & 40 10 2,000,000 20kN 30=0FCH 40kN 10
B-GC-10 GC-Upper 2 20 & 40 10 2,000,000  20kN 3£ 0FCH 40kN 105
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Fig.4 Ballast box test results
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